7~ \ SPECIFICATION SHEET

®
moleXx FineAdjust Applicator
./ 63860-3000
REVISION A
SCOPE
Terminal Series No Wire Size Insulation Diameter Strip Length
Awg (mm?) mm (in) mm (in)
50217-F*%x* 18-24 (0.80-0.20) 1.40-3.00 (.055-.118) 3.00-3.50 (.118-.138)
50539-F*** 18-24 (0.80-0.20) 1.40-3.00 (.055-.118) 3.00-3.50 (.118-.1338)
DEFINITION OF TERMS

BELL
MOUTH

INSUATION
CRIMP

BEND UP

CUT-OFF

TAB CONDUCTOR

CRIMP

TWISTING

BEND DOWN

CRIMP
HEIGHT

The above terminal drawing is a generic terminal representation. It is not an image of a terminal
listed in the scope

Page 1 of 4
UNCONTROLLED COPY

Doc No 638603000 - Rev A 00/07/20



SPECIFICATIONS

Terminal Series No. Bellmouth Cut-Off Tab Max. Conductor Brush
mm (in) mm (in) mm (in)
50217-%*%* 0.20-0.70 (.008-.028) 0.30 (.012) 0.00-1.00 (.000-.039)
50539-%x*x* 0.20-0.70 (.008-.028) 0.30 (.012) 0.00-1.00 (.000-.039)
Terminal Series No. | Bend Up Bend Down | Twist Roll Punch Width mm
Degree Degree Conductor Insulation
50217-***x* 4 2 3 8 1.90 2.80
50539-%x*x* 4 2 3 8 1.90 2.80
The above specifications are guidelines to an optimum crimp.
CONDITIONS
After crimping, the conductor profile should measure the following.
Terminal Series Wire Size Crimp Height Pull Force Min
Awg (mm?) mm (in) N (Ibs)
50217 FF % 18 (0-30) 1.08-1.18 | (.043-.047) 882 (19.8)
50217-**** 20 (0.50) 0.96-1.06 (.038-.042) 58.8 (13.2)
50217-*%** 22 (0.35) 0.91-0.96 | (.036-.038) 39.2 (8.8)
50217-***x* 24 (0.20) 0.87-0.92 (.034-.036) 294 (6.6)
50539-%%%* 18 (0.80) 1.08-1.18 | (.043-.047) 832 (19.8)
50539-*%*¥ 20 (0.50) 0.96-1.06 | (.038-.042) 58.8 (132)
50539-**** 22 035) 0.91-0.96 | (.036-.038) 39.2 (3.3)
50530-***x 24 (0:20) 0.87-0.92 | (.034-.036) 294 (6.6)

Pull Force measured with no influence from the insulation crimp

Page 2 of 4
UNCONTROLLED COPY

Doc No 638603000 - Rev A 00/07/20



PARTS LIST

Item Number | Order Number | Eng Number Description Qty | Kit Part
1 634441905 634441905 Conductor Punch 1 Y
2 634451943 634451943 Conductor Anvil 1 Y
3 634462810 634462810 Insulation Punch 1 Y
4 634452811 634452811 Insulation Anvil 1 Y
5 634430002 634430002 Cut-Off Plunger 1 Y
6 634430012 634430012 Front Plunger Retainer 1 Y
7 11-24-1067 4996-4 Cut-Off Plunger Spring 1
8 634433160 634433160 Front Plunger Striker 1
9 634430021 634430021 Lower Tooling Key 1
10 634436003 634436003 Rear Cover 1
11 11-18-4083 60707-8 Front Cover 1
12 634432409 634432409 Anvil Mount 1
13 634434005 634434005 Wire Stop 1
14 634430009 634430009 Scrap Chute 1
15 638004900 638004900 - FineAdjust Applicator 1

70 638603070 638603070 Tool Kit (All "Y" Items) 0

NOTES

1. We recommend an extra perishable tooling kit be maintained at your facility.

2. Verity tooling alignment by manually cycling the press and Applicator before crimping under
’ power.

3. Slugs , Terminals, Dirt and Oil should be kept clear of work area.

4. This Applicator should only be used in a press with a shut height of 135.8 mm (5.346”).
Tooling damage could result at a lower setting.

5. ** CAUTION** To prevent injury never operate this Applicator without the guarding
supplied with the press or wire processing machine in place. Reference the press or wire

processing manufacturer’s instruction manual.

6. Wear safety glasses at all times.

Page 3 of 4
UNCONTROLLED COPY

Doc No 638603000 - Rev A 00/07/20



ASSEMBLY DRAWING

The drawing below is a generic drawing representation. Some detail may not be shown.
The FineAdjust applicator assembly and parts list can be found in the FineAdjust manual.

*10-32 X Y4 LG.
B.H.C.S.

M4 X 10 LG.
B.H.C.S. (2)

M3 X 6 LG.
S.H.C.S. (2)

M4 X 10 LG.
B.H.C.S.

© & 3 k o
M4.X 20 LG. e \GS 3MM X 6 LG.
SHCS. % %\ @ ROLL PIN

M4 X 6 LG.
M4 X 50 LG. S.H.C.S.
S.H.C.S.
Page 4 of 4
UNCONTROLLED COPY

Doc No 638603000 - Rev A 00/07/20



\ Trade\Electronics.ru

rapaHTmsa 6ecnepeboiMHOCTM NPOM3BOACTBA U
KauecTBa BbIMyCKAaeMOWN MPOAyKLMUK

O KkoMnNaHumn

000 "TpenadnekTpoHMKC" - 3TO onepaTuMBHbIE MOCTaBKM LLUMPOKOro
CNeKTpa 3/IEKTPOHHbIX KOMMOHEHTOB OTEYECTBEHHOr0 W  MMMOPTHOro
NpOM3BOACTBA HanNpsIMyk OT MpoM3BOAMTENIEN W C KPYMHEUWUX MUPOBbIX
CknagoB. Peanusyemas Hawen KOMMaHuWen npoAayKuMs HacuuTbiBaeT 6onee
NOJYMUNTNOHA HAaMMEHOBAHUMN.

Bnarogaps 3ToMy Halla KOMMaHWsA NpeasaraeT K NocTaBKe NMpakKTUUYecKu
He OrpaHUYEeHHbIN aCCOPTUMEHT KOMMOHEHTOB KakK OMTOBbIMW, MENKOONTOBLIMU
napTUAMK, TaK U B PO3HULLY.

Hanunune cobctBeHHOMN 3(hPeKTUBHON CUCTEMbI NOTMCTMKKM obecrneumnBaeT
HaAEeXHYI NOCTaBKy NPOoAYKUMU MO KOHKYPEHTHbIM LleHaM B TOYHO yKa3aHHble
CPOKM.

Cpok nocTtaBku co ctokoB B EBpone n AMepuke - ot 3 Ao 14 gHen.
Cpok noctaBku 13 Aaum — ot 10 gHeM.

Bnarogaps pa3BuMTOM CETM NOCTaBLIMKOB, MNOMOraeM B TOWUCKE U
NpMobpeTeHMN IK30TUUYHbBIX UM CHATbIX C MPOM3BOACTBA KOMIMOHEHTOB.

MpenocrtaBndeM cneu UeHbl Ha 3/1eMeHTbl 4S9 CO34aHUSA UHXXEHEPHbIX
COMIMOB.

YNOpHbIA TPYA, KaUeCTBEHHbIA pe3ynbTaT AalOT HaM NpaBo 6bITb
yBepeHHbiMU B cebe U HageXXHbIMU AJIS HAalWUX KJINEeHTOB.

Hawa koMnaHusa 3T0:

. MapaHTUa KadecTBa NOCTaBASIEMON NPOAYKLMMK
. LLInpoknin accopTMMeHT

. MMHMManbHble CPOKM MOCTAaBOK

. TexHn4eckaa noaaepxka

. Monbop KoMnnekTaumm

. NHaMBMAyanbHbIA Noaxon

. M'mbkoe ueHoobpazoBaHme

Hawa opraHmsaumsa ocobeHHO cunbHa B MNOCTaBkax Moaynen,
MUKPOCXEeM, NAaCCUBHbIX KOMMNOHEHTOB, KcanneHcax (XC), EPF, EPM n cunosomn
3/1IEKTPOHUKMU.

Bonbwon BbIbOp NpegnaraeMon NpoAyKUMKU, pasfinyHbie BUAbl OnaaTbl U
AOCTaBKW, NO3BONAT BaM COKOHOMUTbL BpeMSA U MOJIYYNUTb MAaKCUMYM BbIroabl OT
coTpyAaHuyecTsa ¢ Hamu!



treyd6
Sticky Note
Accepted set by treyd6


lectronics.ru

rapaHTua 6ecnepeboiMHOCTM NPOM3BOACTBA U
KayecTBa BbIMyCKAaeMON MpPoAyKL MUK

MepeyeHb NpousBOoAUTENIEN, NPOAYVKLIMIO KOTOPbIX Mbl MOCTaBJIEM
Ha POCCUMUCKUNMN PbIHOK

AMD1 Dnes o=
ELEEEL @ nichicon .
ROHM 157 s vumon [ Sipex
% TOKO Z { Winbond SAlegro
ATmEL % EXaR
(inteD OKI
QUALCOMW SHARP
AT DK TOSHIBA n NEERA
IS L4 & o]
m&: Ly \nee Nisitnst,
SEReALTEK SANYO SHINDENGEN
Wieczon @ o £ XILINX
Bay Linear . DALLAS
—i'l——wt MMAXKLN
o NEC Panasonic Renesas
SII @ SIEMENS oy AL
v ZETEX




Trade\Electronics.ru

rapaHTua 6ecnepeboiMHOCTM NPOM3BOACTBA U
KayecTBa BbIMyCKAaeMON MpPoAyKL MUK

C vyapoBonbCcTBMEM 6yaeM npopabaTtbiBaTb AN Bac nocrtaBku
HEO6XOANMbIX KOMMOHEHTOB MO TEKYLMM 3anpocaM [Ans CKOopewlle
BbISIBNIEHMUS TPYNMN 3/1IEMEHTOB, MO KOTOPbIM COTPYAHUYECTBO MMEHHO C HalleW
KoMnaHuen 6yaeT ans Bac MakcMManbHO BbIroAHbIM!

C yBaxeHunem,

Menemxep otgena npogax OO0
«Tpeng DNeKTPOHUKC»
Lnwnakos EBreHni

8 (495)668-30-28 nob 169
manager28@tradeelectronics.ru

http://www.tradeelectronics.ru/



http://www.tradeelectronics.ru/

